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R
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1 1475133 [ 6 | 490 1| 24 | 11| 498 2.5 16 | 498 | 24 | 211485 29
2 468 23 | 7 1485 | 28 | 12| 46.8 24 17 | 47.8 | 2.5 |22{49.0| 25
3 (48432 | 8 | 498 | 24 | 13 | 485 2.5 18 | 484 | 2.4 |231463 | 22
4 {466 26 | 9 | 488 | 23 | 14 | 48.0 22 19 | 50.6 | 2.3 |24]469| 2.7
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A2=0.729, D4=2.282, D3=0
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4._ .How might you increase teamwork when team members are not often in direct contact
with one another? Can you think of any “electronic” team-building exercises? (14%)

4. What is Human Resource Management (HRM)? How is HRM related to industrial and
engineering management? (16%)

ét, What is continuous acquisition lifecycle support (CALS)? Please give 3 examples to
demonstrate how CALS is applied in industries. (20%)




